

St. Louis County, Minnesota



Date of Report: 5/14/2025 10:58:20 AM

			General Det	ails				
Parcel ID:	380-0010-06	074						
Document:	Abstract - 12	Abstract - 1266160						
Document Date:	07/14/2015							
		Leç	gal Descriptio	n Details				
Plat Name:	GRAND LA	- KE						
Section	I	ownship	Range			Lot	Block	
31		51 16				-	-	
Description:	BEG THEN	PART OF G.L.3 COMM AT NW COR THENCE E ALONG N LINE 1223.34 FT THENCE S 90DEG 600 FT TO PT O BEG THENCE CONT S 200 FT THENCE E 90DEG TO SHORE THENCE NELY ALONG SHORE TO A PT E OF F OF BEG THENCE W TO PT OF BEG						
			Taxpayer De	tails				
Taxpayer Name	MILLER DEI	NNIS ALLEN						
and Address:	4774 LOUIS	СТ						
	SAGINAW N	1N 55779						
			Owner Deta	silo				
Owner Name	MILLER DEI		Owner Deta	3115				
			able 2025 Tax	Summary				
	2025 - N			Caninary	¢5.70	25.00		
			.x \$5,7			5,795.00		
	2025 - S	pecial Assessme	nts		\$2	\$29.00		
	Special Asses	sments	\$5,82	24.00				
		Current	t Tax Due (as	of 5/13/2025				
Du	ue May 15	1	Due Octobe	er 15		Total Due		
						2025 - 1st Half Tax Due		
2025 - 1st Half Tax \$2,912.0		0 2025 - 2r	2025 - 2nd Half Tax \$2,912.00		2.00 20	2025 - 1st Half Tax Due		
2025 - 1st Half Tax	Paid \$2,912.0	\$2,912.00 2025 - 2nd Half Tax Paid \$2,912.00 2025 - 2nd Half Tax Due				\$0.00		
2025 - 1st Half Due \$0.00		00 2025 - 2r	2025 - 2nd Half Due \$0.00		0.00 202	2025 - Total Due		
2025 - 1st Half Du	e \$0.0							
2025 - 1st Half Du	e \$0.0		Parcel Deta	aile				
	·		Parcel Deta	ails				
Property Address:	4774 LOUIS	CT, SAGINAW N		ails				
Property Address: School District:	4774 LOUIS 704	CT, SAGINAW N		ails				
Property Address: School District: Tax Increment Distr	4774 LOUIS 704 ict: -			ails				
Property Address: School District: Tax Increment Distr	4774 LOUIS 704 ict: -	NNIS A	IN		026)			
2025 - 1st Half Du Property Address: School District: Tax Increment Distr Property/Homestead Class Code (Legend)	4774 LOUIS 704 ict: -	NNIS A			026) Def Lan EMV	d Def Bldg EMV	Net Tax Capacity	
Property Address: School District: Tax Increment Distr Property/Homestead Class Code (Legend) 201 1 - 0	4774 LOUIS 704 ict: - der: MILLER, DE	NNIS A Assessmer Land	nt Details (202 Bldg	25 Payable 2 Total	Def Lan			







			Land Det	ails					
Deeded Acres:	2.15								
Waterfront:	LITTLE GRAND								
Water Front Feet:	213.00								
Water Code & Desc:	W - DRILLED WE	LL							
Gas Code & Desc:	-								
Sewer Code & Desc:	S - ON-SITE SAN	ITARY SYSTI	EM						
Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are	not guaranteed to be su n.gov/webPlatsIframe/fr	irvey quality. A mPlatStatPop	Additional lot ir Up.aspx. If the	nformation can be are are any quest	e found at tions, please email PropertyT	ax@stlouiscountymn.gov.			
		Improve	ement 1 De	tails (HOUSE	E)				
Improvement Type	Year Built	Main Flo	oor Ft ² G	Bross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1992	1,43	33	1,433	AVG Quality / 1069 Ft ²	RAM - RAMBL/RNCH			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	0	0	3	BASEME	NT			
BAS	1	1	8	8	CANTILEVER				
BAS	1	3	16	48	BASEME	NT			
BAS	1	3	28	84	BASEMENT				
BAS	1	4	13	52	BASEMENT				
BAS	1	4	22	88	BASEMENT				
BAS	1	23	50	1,150	BASEMENT				
DK	1	12	15	180	POST ON GROUND				
DK	1	12	27	324	POST ON GROUND				
OP	1	0	0	75	BASEMENT				
Bath Count	Bedroom Cou	Int	Room Co	unt	Fireplace Count HVAC				
2.75 BATHS	3 BEDROOM	S	-		1	CENTRAL, ELECTRIC			
	li	mproveme	nt 2 Details	s (ATT GARA	AGE)				
Improvement Type	Year Built	Main Flo	oor Ft ² G	Bross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1992	48	4	484	-	ATTACHED			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	22	22	484	FOUNDAT	ION			
		Improvem	ent 3 Detai	Is (POLE BL	DG)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	1982	2,52		2,520	-	_			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	40	63	2,520	FLOATING SLAB				
LT	1	14	52	728	PIERS AND FOOTINGS				
Improvement 4 Details (GAZEBO)									
Improvement 4 Details (GAZEBO) Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
GAZEBO	1999	12		127	-				
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	0	0	127	POST ON GF				
	I	0	U	121	10310106				





St. Louis County, Minnesota

		Improveme	ent 5 Details	s (SHED@LAM	E)				
Improvement Type	e Year Built	Main Flo	oor Ft ² G	ross Area Ft ²	Baser	ment Finish	Style	Code & Desc.	
STORAGE BUILDIN	G 0	42		42		-		-	
Segmen	t Story	w Width	Length	Area	Foundation				
BAS	1	6	7	7 42		POST ON G	ROUND		
		Improvem	ent 6 Detail	s (Suana12x1	6)				
Improvement Type Year Built		Main Flo	Main Floor Ft ² Gross		Basement Finish Style Code &			Code & Desc.	
SAUNA 2020		19	192 19					-	
Segmen		Width Length		Area		Foundation			
BAS 1			12 16 192		FLOATING SLAB				
OPX	1	4	12	48		FLOATING	SLAB		
		Improven	nent 7 Deta	ils (SHIP 8X20)				
Improvement Type		Main Floor Ft ²		Gross Area Ft ² Base		ement Finish		Style Code & Desc.	
STORAGE BUILDIN	G 0	160 Width Lenath		160				-	
-	Segment Story		Length			Foundation			
BAS	1	8	20	160		POST ON G	ROUND	OUND	
		Improven	nent 8 Deta	ils (SHIP 8X40)				
Improvement Type		Main Flo		ross Area Ft ²	Baser	ment Finish	Style	Code & Desc.	
STORAGE BUILDIN		32	-	320		-		-	
Segmen	-		Length	Area					
BAS	1	8	8 40 320			POST ON GROUND			
	Ś	Sales Reported	to the St. L	ouis County	Auditor				
Sale	e Date		Purchase P	Price		CRV	Number		
07,	/2015		\$382,50	0		2	11654		
		A	ssessment	History					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Tot EM		Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	201	\$226,000	\$337,00	00 \$563,	000	\$0	\$0	-	
2024 Payable 2025	Total	\$226,000	\$337,0	00 \$563,	000	\$0	\$0	5,788.00	
	201	\$183,000	\$266,00	00 \$449,	000	\$0	\$0	-	
2023 Payable 2024	Total	\$183,000	\$266,0	00 \$449,	000	\$0	\$0	4,490.00	
2022 Payable 2023	201	\$188,400	\$265,60	00 \$454,	000	\$0	\$0	-	
	Total	\$188,400	\$265,60	00 \$454,	000	\$0	\$0	4,540.00	
	201	\$158,600	\$219,90	00 \$378,	500	\$0	\$0	-	
2021 Payable 2022	Total	\$158,600	\$219,9	00 \$378,	500	\$0	\$0	3,753.00	
		1	Fax Detail H	listory		I			
Tax Year	Тах	Special Assessments	Total Tax Special Assessme		and MV	Taxable Build MV	•	al Taxable MV	
2024	\$4,799.00	\$25.00	\$4,824.0	0 \$183	000	\$266,000		\$449,000	
2023	\$5,087.00	\$25.00	\$5,112.0		400	\$265,600		\$454,000	
2022	\$4,753.00	\$25.00	\$4,778.0	0 \$157	270	\$218,055		\$375,325	







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.